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FA: SF
Hu: simolet 243
el AEsE g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
203 HR=H] 810 810
03 A=A 2= 810 810
OL=ZEH ZARZA =&
900,000 *90% 810
307 @120l & 190,000 186,750 3,250
05 212+ =S 190,000 186,750 3,250
ONFPS K0} D2l
190,000,000& 190,000
309 HES 2,053 2,053
2 SRAARSACISHIYEES 2,053 2,053
O322 Uostii=s R
2,053,000 2,063
Bl&ttiHl & &Al 49,936 44,936 5,000
201 er23y| 9,936 9,936 0
01 AtR2t2|HI 9,936 9,936 0
Oblatigled 29 240
S0 70,0002 #23] 140
ey g 100,000 100
O gdAEEd SAHI 6,696
SAt=%s dlgay 6,696,000& 6,6%
ORXHMUIACHHl A=A HIZ
3,000,000& 3,000
308 XtXIEMSO0IE 40,000 356,000 5,000
0ol zZsSdNASSEX 40,000 35,000 5,000
oublzsd A& 40,000,000 40,000
AMNBZSRRABES 14,535 10,649 3,886
301 EtE N = 14,535 10,649 3,886
0 MSRRREENS 14,535 10,649 3,886
O#HY AL 14,53
s 1,000,000 x1H 128 12,000
-S4 7,000« 1H*22 x 122 1,848
=l 2,600 x1H*22* 122 687
AxdHd 28 3,887,044 3,548,974 338,070
= 37,545
Alt] 76,971
Tl 3,772,528
A2 SA 2CIUI0IE K& - 4 75,538 73,206 2,332
= 32,481
Tl 43,057
307 elzto| & 75,538 73,206 2,332
= 32,481
Tl 43,057
05 212t =S 75,538 73,206 2,332




2A: B2
Hu: smoler Ast
iy HEPADN RS B (SH9 H2)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
ORI EA 2CIUIOIE 214H((2Y)
75,537,680& 75,538
= 32,481
] 43,057
NASAHEH SSZARA IAHH] XA 37,830 35,426 2,404
AlHI 16,645
2| 21,185
307 QIZt0I™ 37,830 35,426 2,404
AlbI 16,645
| 21,185
05 a2t Er2 37,830 35,426 2,404
OXNEEAHE SSERN 1AHI (1Y)
37,829,840 37,830
AlHI 16,645
=4l 21,185
NASAEEH 29 XIH 73,606 73,635 A9
AlHI 18,500
2| 55,106
307 QIZt0I™ 73,606 73,635 A29
AlbI 18,500
| 55,106
05 a2t Eer2 73,606 73,635 A9
OX2SAEE 294 XI&
38,206,000 38,206
AlHI 8,000
—d| 30,206
OXNREANHH T2 29| X
35,400,000& 35,400
Albl 10,500
2| 24,900
N2ASAHAE o1 XI& 89,634 86,672 2,962
307 QIZ2t0I A 89,634 86,672 2,962
05 aIteEr 2 89,634 86,672 2,962
ORI SAMHE o1z 21| XA (2Y)
89,633,400& 89,634
d= S& NSAH EE0He MHIA XA 10,128 13,000 N2,872
= 5,064
-l 5,064
307 QIZt0IA 10,128 13,000 N2,872
= 5,064
sl 5,064
05 a2t Eer2 10,128 13,000 N2,872
OXSAA B8 X
10, 128,000 10,128




=N B2
e

M HFAS 25t
ol IXEE e (SH9 H2)
- BE . R(3) - HIRAY - S A 2
= 5,064
-t 5,064
B 7,150 7,150 0
AlHI 4,000
el 3,150
7,150 7,150 0
AltI 4,000
el 3,150
7,150 7,150 0
odsd EMTdX Hst L B5
4,000,000 4,000
Al 4,000
Ostddd 28+1Y s 3,150,000& 3,150
FUUSE 22l 127,184 120,400 6,784
201 B2 AL| 100,484 98,080 2,404
01 ArR222ltl 96,216 93,944 2,272
O=xRSES 3,680
FUSE 8 AEIH
14,0002 105160 = 2,240
e E MZ=2 J1TH)
6,000 *15J1*160H= 1,440
OFLUSE Hbtd 17,824
sz==8X 26,0002 x 142 A 1600 S 5,824
sSxz2¢a8 EUIELX
250,000 30+ 1671 = 12,000
O=xFLUSES L=
4,3902 %1,40001 122 73,752
OFBISE N S22 NE
30,000& 1601 S 23] 960
02 32| 4,268 4,136 132
O=RSE RGN ESEE=
3,000,000& 3,000
OFDSESES fEE
4,800 228t Ax 128 1,268
308 AHXIHM SO & 26,700 22,320 4,380
SHA A X QALY 26,700 22,320 4,380
23
26,700,000 26,700
12,452 12,452 0
AltI 6,226
el 6,226
12,452 12,452 0
Al 6,226
| 6,226
12,452 12,452 0




A B2
Hu: simolat 243
ol IXEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMOISXNIEA el 5= A3
12,452,000& 12,452
AlHI 6,226
Tl 6,226
MOIS X2l AFRExe1E o124H| XI& 28,000 28,000 0
AltI 14,000
Tl 14,000
307 212+01& 28,000 28,000 0
Alt] 14,000
Tl 14,000
03 M EE2SHIEX 28,000 28,000 0
OMOISXI2l MREX01E e12id] X1
28,000,000& 28,000
AlHI 14,000
Tl 14,000
AR TE 42,270 42,270
203 =4l 5,670 5,670
03 A= PR FZ| 5,670 5,670
OAtzlElE R 6,300,000 *90% 5,670
301 2eEN= 3,000 3,000
11 dALREIXIE S 3,000 3,000
OX=Z MOSXETXHE &4 o]
150,000 20 3,000
307 el2tol & 33,600 33,600
02 2B YAIAE £ 24,000 24,000
OFUEFN A2 WEs Arg
6,000,000& 42| 24,000
05 git?(& = 9,600 9,600 0
OMOtSS2n=s(182¢d)
105,000 x4 420
OMO=E2n=(2213Y)
204,000 #4659 9,180
MOte2sS 2483t Nd 86,732 79,732 7,000
307 gl2tol & 86,732 79,732 7,000
02 QI AAEE X 45,372 39,900 5,472
OMil=E2s gdat N3
45,372,000& 45,372
03 M EHE2SHIEX 41,360 39,832 1,528
OMOI=XI2 244l X
41,360,000 41,360
HiENdlizs gdat N3 48,700 44,100 4,600
AltI 3,600
Tl 45,100
307 gl2to| & 48,700 44,100 4,600




=N B2
e

MM WO A
&t XSy P28 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 3,600
-4l 45,100
02 QIRHE&AAIHE B X 30,600 29,600 1,000
OttiZ2AHall2s g4 XA
30,600,000 30,600
03 QI HE2HHIE X 18,100 14,500 3,600
Ott2Ag 23 298| XA
18, 100,000& 18,100
Al 3,600
4| 14,500
AeEsdY =4 X& 55,700 52,700 3,000
Al 14,000
-4 41,700
201 2| 2,400 2,400
02 33=24H| 2,400 2,400
OHMAMRY B32= 2,400
aoteEz 50,0003 62 300
HM)l=z 175,000& x 12& 2,100
307 2I2+01A 53,300 50,300 3,000
Al 14,000
-4l 39,300
02 QIRHHAAIHE X 25,300 22,300 3,000
OXsEsAY |4 X2 25,300,000 25,300
03 QIIHHHE2GHIEX 28,000 28,000 0
OXt=EdUX 3 28| XA
28,000,000& 28,000
Altl 14,000
=4l 14,000
RIRICHH Z2&s XA 63,600 49,000 14,600
307 212+01 A 63,600 49,000 14,600
02 QIRHEAAIH B X 63,600 49,000 14,600
ORIZIEHH S&as XN&
63,600,000& 63,600
12X ToHA+ XI&AFS 8,000 8,000
307 QI2Hol 8,000 8,000
02 QItBAAIH E X 8,000 8,000
O"Y X ToHAt XIJAH 8,000,000& 8,000
—E2Y 550,604 549,971 633
101 @124l 17,766 33,613 A15,847
M IIRINZ2EXsSEs 17,766 33,613 A15,847
Of£4 JI2HHMZ2Z21 17,766
QIAY|(FE Xt SRt~ ILEH)
86, 1203 «28 ! «6& 14,469
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A B2
3 HZARE A3l
ol IXEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 156,000 156,000
01 Al&H| 156,000 156,000
Ozd1s 28 SAt 156,000,000 156,000
UEAEIIFH 29 17,844 0 17,844
201 er2 3| 9,500 9,500
01 AtR2te|HI 9,500 9,500
OLNEAEI IR H L2
9,500,000& 9,500
308 AHXIHMSO0IA 8,344 8,344
11 S [2S0 e YA AS A 8,344 8,344
OSEEEAIAHE |X2el
8,344,000 8,344
SAZES fg EEdd Z3& &9 50,000 0 50,000
401 AIZHIZL S HE 50,000 50,000
01 Al&H| 50,000 50,000
OSAIE BEd 3& 29 (UF1S, -2
s) 50,000,000 50,000
ASLBH 2 19,000 0 19,000
301 22N = 19,000 19,000
06 AHELHUHAEIXR 19,000 19,000
OXtsgHl AHXd 19,000
AlHl 8,000& 4 =150 4,800
- ESHI 22,0003 x4 *150 13,200
- SHIF Y 1,000,000& 1,000
Zg2s = NUE UHAFNNE X4 2,250,000 0 2,250,000
401 AIEHIZ SR HYI 2,250,000 2,250,000
01 Al&HI 2,250,000 2,250,000
Odees dd=AdEH A=Y =4
2,250,000,000& 2,250,000
=R g 25t 259,290 259,290 0
F0Xxl2 =2 K& 149,090 149,090 0
201 Ler=23 | 147,610 147,610 0
01 At2teltl 147,610 147,610 0
Os2d 0=Ag 113,500,000& 113,500
O=0XtAl 23t &y 5,000,000& 5,000
OAlot F=BIXFXICHS! 23,760,000 23,760
O=2XXa S2E S d U2 H
4,000,000 4,000
O=2XKe 248 A=z MH
1,350,000 1,350
203 =4l 1,080 1,080
03 A=A 2= 1,080 1,080
O=CIXtXlg FRAR 1,200,000 *90% 1,080
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2A:

e,

I SUAE ol ol
Chel ECHAFRITHGH OHREAHBRINN 2= (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 60,416 0 60,416
o=zl A 4,200 x300F 122 15,120
OsUerE Mol oY M= 228
693,000 * 12 8,316
OetdsEs Y 10,000,000 10,000
OUdEAN= 4,920
SANAL S WS 230,000 +63] 1,380
SN HA AL S WS
59,000 *60H 3,540
ORIIRBASIRS 2
200,000 42 800
OSHA AN o Oime M
11,0003 90 990
OAEE &8It 9,790,000 12 9,790
OMRIE NlBHEH
3,000,000& *22] 6,000
OS24 S| 56,700 *79H 4,480
203 HR=H| 900 900
03 A= PR 900 900
OSUA A o g2
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